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Carried. Theyare adopted.

CLERK: Nr . President, Senator Scofield would nove to anend the
bill. Senator, | have your AN1165 in front of ne.

SPEAKER BARRETT: Senator Scofield, please. (Gavel.)

SENATOR SCOFIELD: Than k ) yOU_, Nr. President. Thi s puts a
different way of distributingthe noney to nunicjpalities on
683. You will recall that currently under’the NIRF bill,

have started calling it, the noney goes to nunicipalities on the
basi s of population. The anendnent that | offer is an anmendnent

that is based to some extent on the recomendations of the
Syracuse Tax Study nmade in terns of trying to come up with ome
ind

kind of needs-based formula and all ocate noney out on that Kk

of fornmula. So that we take the. . the |language in the anmendnent
says the smaller the per capita income of the munici pality s
compared to the per capita incone in all nunicipalities, the

rr'DrQ .fund.s that rani.Ci pall Y wll receive Corrpared to other
muni cipalities. So in other words, the intent of this is sinply

to target those nunicipalities that are the poorest and, thus,
it shifts the allocation to help those comunities that are npst
inneed. | think this is appropriate in that those comunities
that are most |ikely to have infrastructure problens are the
least likely to be able to come up with sonme noney to attend 4
them and so this would, in fact, shift noney out to the poorest
communities consistent, again, with the philosophy put forth in

the Syracuse Study. |f you will take a | ook at thé amendnent as
printed, and that is printedin the Journal, isn't it
Nr. Clerk? '

CLERK: Senator, it is not.
SENATOR SCOFI ELD: It is not printed.

CLERK: No.

SENATOR SCOFIELD: | guess we had better distribute that then.
Let me just wal k through, Section 5 is really the aat of e
amendnent . | apol ogize, | was under the inpression we haé r|1ad
that printed and, apparently, it is not. Section 5 reads as
follows: ~ The municipal allocation anount shall be deternined
for a gi ven muni ci pa! ity as follows: (a) Divide t he
municipality's per capita income b the total nunicipal per
capita income to get the nunicipality's index;. . this is going

4866



